USER GUIDE

MANUAL
DOWNLOAD

www.bestuhl.co.kr LH X|'E|9| APSL H'"ﬁ%




LI'OIE Size

626 1 553

* Do)l 2t U ALO|ZTtOHE 4= UELICH

* Dimensions may vary depending on the model.



x."E 7'% Function

HEIls
01 Eo| 03 EE
=0| =H sz 1y
1EY 2el ¥ 5
02 RFX|X|c (WIEIM) 04 Emt
=0| =F =0| =F
Function
01 Armrest 03 Tilt
Height, Fixed Tilt-locking, Tension
02 Lumbar Support 04 Seat

(Self-tension) Height Height




?'*c-'% Components

o matol M 22 W EAE TAE0| ZREl0] UaLIT

v

S1t/Backrest ZHt/Seat
x1 x1

EE/Tilt Mechanlsm

v

o & &

i z ZEEE / Components for Assembly

ZrZ0|/Armrest M8X35  M6X35  M6X40
x1set (L, R) 3EA 4EA 6EA

Z48/Gas Lift

LAt f2f2ilX| / L-Shaped

x1 Allen Wrench x1
x =8 M FolAFgt Warning
0| 452 T ¥ UHE0| S7otQL| ROISHAIZ HHFLICH
This product cannot be returned after assembling it

34
1)
=
M
10

I AI'-éc-;l. Caution

+ HEA| 2 H X8 MBAMES o] BAP7| LIk

+ HPA TS 2T 9lo] KES0| YLK ChA| B ol of BAIR.

.+ 9t 22 HOIZ SO 2257 /X8 FYojor HIZ0| YIHKIX| BLICE
+ FZ0| 27POE XY A| CHIX| BHES FOIsi0 TSR,

« FE TS WRISP| 2AsH L2 HS ST A8 KRSl FHL.

- XRo| Bt 3 LS N2 3 HAS WY FHIR

+ TiE 22 XE Al IA0| A0H 22 M STl ¢t BoliR
+ Do w2t IR 0|7} IS 4 eLICt

+ Please read the assembly instruction sheet completely before assembly.

+ Remove all parts from carton and ensure all parts are included prior to assembly.

+ Assemble the chair on the carton or table to prevent scratching the chair.

« Please be careful of the possible injury due to the heavy weight when you
assemble.

+ Do notuse powertools.

« Examine all packaging material and remove staples before discarding carton.

» Forimmediate help with assembly or productinformation, call to the place
of your purchase.

« The parts of the product may be slightly different from the pictures.



x'"% EEI' 1 Assembly- 1

Hloj&, S =8
01 HF0| &% $=E RER2 oM ZE 6 FAQ.
02 ’1“1._15._ H o(of tlojA IS HIEA S0I=8 HED,

Star Base, Gas Lift Assembly

01 To avoid any damage, assemble product at the clean
and soft surface.
02 Turn the Star Base [l upright and insert the Gas Lift

into the center hole of Star Base.

Z &8 Gas Lift

H|O| A Star Base



x‘"% EEI = 2 Assembly- 2 (221X = M2 / Online Exclusive)

—y =2 =
01 ZZUAS &g, 2 23 s5LC
02 ZZO|E ZHHol| 7|21, LA} 24X 2
HAXEE(M6x40)S T8It Zo| MZAsto] nFBLICE

Backrest, Armrest Assembly

01 Place the seat on top of the packaging box.
02 Insertthe armrest into the seat plate, and fasten it
using the flat wrench bolt (M6x40) with the

L-shaped hex key as shown in the illustration.




x'"% EEI = 3 Assembly- 3 (221X = M2 / Online Exclusive)

Sl Eo} xtut X3
01 ZMS J2lat 20| 50| FIY D, TS LEE
22saLict
02 LA} SZtaK| 2 Halx|2E(M6x35)8 &3t 20| HZstod
DL

Tilt Mechanism, Seat Assembly

01 Flip the seat base upside down as shown in the illustration,
and put the backrest into the seat base assembly hole.
02 Using the L-shaped hex key, fasten the flat-head bolt

(Mé6x35) as shown in the illustration to secure the parts.



x."% EEI -4 Assembly- 4 (22}21H|E ML / Online Exclusive)

Backrest, Seat Assembly

01 Flip the seat base upside down as shown in the illustration
and insert the backrest into the seat base assembly hole.
02 Using the L-shaped hex key, fasten the flat-head bolt

(M8x35) as shown in the illustration to secure the parts.



x'"% EEI' 5 Assembly- 5

A =
01 2Ixte| H8E 0|2 =TS sttt St AetgtLct.
02 <5 otz 7o SHES & & N4
03 Z Z20l= € 27 0|42 = ZHHE & 52F0{0}
ESO0| ZHO| 2E g & UFLICH Xt ZHE SH0j| A0tM
EO0|ZH &TO|7t & &HS3h=X| &elgfirt

Final Assembly

01 Combine the upper part of the chair with the already
assembled bottom part.

02 Fix the cylinder on to the hole located below the upper part
of the chair.

03 After installing the cylinder, sit on the chair and check if the

chair height adjustment lever is fully functional.




x'"% M‘%E."- 1 Instruction- 1

@ zZo| 0| =H
ARMREST HEIGHT

- ZZ0| Qo HES 27 o=
850} 0|8 T 4+ AUBLIC,

[5) « You can adjust the armrest height by
\ pressing the button on the side of the
armrest and moving it up or down.
* 22l 2 A2

@ 2&X|X|d £0| TF, WmEIM
BACKREST HEIGHT, SELF-TENTION

« QFX|X|cH HEE 9f-0kH=Z S0
E0|E Z8Y 2o, XM eHds
o|gsto] ztHOZ RFE XX

= AFLIC

+ You can adjust the height of the lumbar
support pad by moving it up or down,
allowing for effective lumbar support
using its built-in tension.

@ su 2z 1%

BACKREST ANGLE LOCKING

® smziz 1y

« ZfEFof2lo] M BHE A AL =
S2H SH A Z=7H FHlR| L,
HitH2 S2|H siEL|Ch

« You can adjust the backrest tension by
turning the round lever under the seat
clockwise to tighten or
counterclockwise to loosen.

BACKREST ANGLE LOCKING

Locking <2

/I

- SHE 7|20 Yots AZ0M FHT
YR YHE Bz UH SHO|
NFE D, HEZOZ gI|H
30| sim gLt

« You can lock the backrest at the desired
angle by tilting it and pushing the left
lever inward, and unlock by pulling the
lever outward.



I'"% M‘%‘é."' 2 Instruction- 2

O oIxt =0 =X
CHAIR HEIGHT

I QER M E 2|2 22 HEHollM
LOIMZ{L} 2fot ofxte] £0|E ZHE
4+ B,

« You can adjust the seat height by
lifting the right lever while standing

or sitting.




b

oJ_'_ Warning

Ofxtoll 2217t Hi|o] 0| ofe 2IX7} 0|2 YIHE US + AELICE

OIxtel FHERI2| R0l R MEE|0] YHE US & ASLICH

Ofx} 22Hol FX 0]2|Z AM&3H| OHYAIR.

113kgOl 4] AF2t2 AMZ0l F=2I5HA|7| HERfLICE.

OIXIE FIZ H3 HEHo|A R2[3t £24S FH IR E 4 lELCh

EHIO|L STl ZE{RIOH THRE|0] HHiE S 4 USLICH

LZo|of| ZE{RtOH ORI D|T2{H MBS A2 4 UBLICH

AHZHO| ofot QIS M CHE AEH0] SHE +2X| DHHAIL.

AH2Ho| o X} of2H2 S0{Zt MEHOl|A HX| OHAI2.

Aol gtot AUS 2L 9fXIE LX| HAIR.

AHZHO] ofot QU2 FR0l= QXIS A7 HHE S -~ USLICH

O[xtofl 291 00| AL&HR| OHYAIR.

AES S A 2 ZR HER|0) 2712H0] 7|0JX| e FO| SHAIR.

olxtoll F|Z SroH M=L|0] HHE US + AFLICH

Ofxt S& F9(0) £7t2 EX| OHYAIL.

OIx} SMoll £7t2t5 X ORI

O[xt SHoi| £|ch £ 2 Lo P MY E= CrE SH|0f CI2IE 22151 ALESH| DHIAIR.
OIxtol ot2 W BE AR = ARE F2|5H 7|20IX| DHYAIL.

Ci2|E ZHEto] 221 HEfolM 21HS 3tH TRE(0] oS a8 = ABLICH

OIXIE 0|83t0] BE Y| S2 SHA| OHUAIR.

MU= HEHollA ofxtofl £0|Lt ZO2 7|CHH HFo| TLE0 Q3 3HE S += AUSLICE
OIX+E HXIX| OHAIR.

OIXIE Y= KHK| DHYAIR.

Ofxtol ZHojol| ZE{RIO™ H2{MAf CHE £ ELICH

OIS 0421 7H 2Okz 1 f{0flA ZiL CHLX] ORI,

OIxto| Ch2| ool YCi2|E 7|21 5S RO 2 K0|H WRH = JAFLICL

olxtol ALBHE 23| £Xlot 2, ArgHtRLICh
f12l Z1E FAIe HEfofl Mol o cHsiME MAS X

El
52
i}
il
in)

22
23
24
25
26
27
28

You may be injured by the movement of the wheel if you climb the chair.

You may be injured by the overturn of the chair if you sit on the comer.

Do not use the chair for other purpose than its original purpose.

Be careful to use for who is over 113kg.

The chair may be damaged by the shock when it is leaned back.

You may be injured by the overturn of the chair if you sit on the side plate or back plate.
You may be injured from slipping down the chair if you sit on the armrest.

Do not push down the back plate then someone is sitting on the chair.

Do not sit on the chair when someone is under it.

Do not push the chair when someone is sitting on it.

You may be injured if the chair is rotated when you are sitting on it.

The chair is for one person only.

Be careful of your toes not to be trapped by the wheel when you use the chair
without your shoes on.

You may be injured if you sit backward.

Do not put finger on chair drive.

Do not put your finger into the gap of the chair.

Do not sit with your legs on a desk or other object while you push the back plate
to the most rear.

Do not lean too much to the right or left when you sit on the chair.

You may be injured from overturn if you rotate the chair while your legs are on the stall.
Do not do the pushups using the chair.

You may be injured by the movement of the wheel if you lean on the chair

with your hands or body while you are standing.

Do not throw the chair.

Do not kick the chair.

You may injured if you sit on the armrest.

Do not jump between the chair.

The chair may be overturned if you lean forward while your legs are under the chair’s legs.
Please read and understand the manual before you use the chair.

We are not responsible for the dangers occurred by ignorance of this warning.



_+_HIII' 'E'Icgyl'f' Authentication

i o
=4 29 HYoIE

(Z S gagd)

YA LE| 102 Ol -HERY EE DU T

FYULZSE 26 ol -Qapae| £E REDY

SEDH 3 o1 ALY Rk

(CLET R 1)

TULREE 102 oLl CHERS EE 7Yt EF
- FULREE 671 OfLY - Zmet

- TUYREE 31 ol CRASE EE HETS
52| F SUBHAL U - M| Zmet

[ S AN (3HEHHIE 5)]

TULZEE 671 O|LH | - HZEmS EE UL B
(2|3 224 (£5mm 0]4)]

| - HZmgt

[HI= 3tEo|Lt MHES QoA W21 SH]
CTUUZEE] 15 oLy - HEmgt

(B, AHIRTHAE L NRE QA
W21 BRYS B Fools

Helgtt)

(MEXE T SR T st Al

- ABIX} HMALR R I3 ofo}
R
g 1%
 ARRIRF HRALRE QI3 efof
- M0 2E032| 10% Ofstel B2
- M0 2E039 10% £30l 22

]

HEDE T 2t
- BUTFOIA T4 A2t

- MZ0lA 2ECHS 5% SH F &
-MZ0lM EBCHZ2 10%E A 2 23

-MZ0M EBCIZ2 5% 3H F &2
30N EBCH32A 10%E 7Rt = &g

HREI|Zt Lol St stxtofl chal 23 2| WetoLt KL (32]m)]

RBDE EE 7Y 8

= IH

| 38 =

o3 L= MEus

- HoY 217} 213t ol Zeof

10%E JHAtelol 23
(B D3 771 £ HE D3



J_l_7—l|ll L-IHlﬁ Customer Service

FYAMH|A LY

oflAQ] AH|RIE SO 2t HE, H[14142%)

=
=)

Aopus| (MR

SEH|80| #IHEULCE

LERE 7L 0| 7t

X 0|2 ARt

| 54 OJA},

=& kXt

ol
K-
I+
o
K-
ol

o AH|X}

Mot 3

b

Tl
OHl

7|E}

02MZ0| EA|, 21 L{E1} Ct=HL} Al9f LS} CHEA|

(==X, &t 2f)

HMZ=xte| X|F4=2[X|F0| ofl xtt

CC
ST

o M=xt

Bl 370 o|LH

I+
an
ol
U
no

F

3

Zo o
== o

- X

o 4 AU LRE 30 Ol

i
u.

L
oty

cHE2 52

SYMH|A ohLl

HIAE HIF2 2H|X TS24 FEO T2t MB|AS 2o M £ lEL|Ch

EF SR EdE 2 A/SHIE R 92|5t0] FAIH A&t X2(310]

2
[S)

Ab

YO 2 £2[df S|

o+

TOHLZEE 13LCE

o
22

SHEZ IR

} 070-7549-4992

My

MH|A FHa= 8 ety 29|

ZHE 19 671 X R)

yES=



$-_+_ U*I ﬂgl'x Contact

7 2A R A 13 E
CHT A EM T G2 105
T053-581-3383 F 053-582-3383

NE MeF
MEEHA MET AULE 102 3 6F
T 02-575-9575 F 02-576-9575

DAEGU HEADQUARTER & 1st FACTORY
105 SEONGSEO-RO, DALSEO-GU,

DAEGU, REPUBLIC OF KOREA

T +82-53-581-3383 F +82-53-582-3383

SEOUL OFFICE

6F, 3, SAIMDANGRO 10RD, SEOCHO-GU,
SEOUL, REPUBLIC OF KOREA

T +82-2-575-9575 F +82-2-576-9575

I ME U HAZE
m=A| EHEH 31|02 2 1858 Z 40-43
T031-945-0043 F 031-945-2377

= Hote! ZTH 2 904HZ 46, 4F
T031-526-1068  F 031-526-1069

PAJU BRANCH OFFICE & FACTORY NO.4
40-43 HEYRI-RO 185 BEON-GIL, TANHYEON-MYEON,
PAJU-SI, GYEONGGI-DO, REPUBLIC OF KOREA

T +82-31-945-0043 F +82-31-945-2377

YONGIN WAREHOUSE

4F, 46 JUGYANG-DAERO 904 BEON-GIL,
BAEGAM-MYEON, CHEOIN-GU, YONGIN-SI,
GYEONGGI-DO, REPUBLIC OF KOREA

T +82-31-526-1068 F +82-31-526-1069

www.bestuhl.co.kr



MEMO




